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Times tables
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3 × 5 =

5 × 4 =

4 × 7 =

7 × 2 =

2 × 12 =

12 × 8 =

8 × 3 =

3 × 11 =

11 × 10 =

10 × 9 =

9 × 8 =

8 × 7 =

7 × 6 =

6 × 5 =

5 × 7 =



Intro to algebra
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𝑥 × 𝑦 = 5

𝑎 + 𝑏 = 5

𝑚 ÷ 𝑛 = 5

𝑥 = _____

𝑦 = _____

𝑎 = _____

𝑏 = _____

𝑚 = _____

𝑛 = _____

𝑥 × 𝑦 = 0.5

𝑎 + 𝑏 = 0.5

𝑚 ÷ 𝑛 = 0.5

𝑥 = _____

𝑦 = _____

𝑎 = _____

𝑏 = _____

𝑚 = _____

𝑛 = _____

𝑥 − 𝑦 = 5

𝑎 − 𝑏 = 5

𝑚 − 𝑛 = −5

𝑥 = _____

𝑦 = _____

𝑎 = _____

𝑏 = _____

𝑚 = _____

𝑛 = _____



Fluency

1

2

3

4

5

2 × 12 × 5 × 2 =

144 × 3 ÷ 12 =

25% 𝑜𝑓 36 =

10% 𝑜𝑓 72 =

0.4 × 0.3 =

6

7

8

9

10

5 × 22 =

115 ÷ 5 =

1

4
𝑜𝑓 500 =

4

5
𝑜𝑓 15 =

4.8 × 5 =



Key methods

1

2

3

46 × 53 =

2601 ÷ 3 =

3

7
+
2

5
= + =



Feedback

1 467 − 183 = 4 6324 7
1 8 3

423

−

This person has made a mistake. Find it and correct it. 



Reflect

Reflect on the first section.

WWW:

EBI:



Literacy



Reflect

What are the main barriers to succeeding in maths?



Problem solving

Use the column method of addition to calculate the following.

1

2

367 + 976 =

3.67 + 97.6 =



Problem solving

Find a value of 𝑥 and 𝑦 so that, 

𝑥2 + 𝑦 < 𝑦2 − 𝑥

𝑦 =

𝑥 =

3



Show your workings

1) How many people would be needed to create a human chain 
around the world? 

Every person in the world joins together to make a human chain. 
2) How many times around the world does it go? 
You must justify and explain your answers. 

𝐸𝑞𝑢𝑎𝑡𝑜𝑟 ≈ 40,000𝑘𝑚

𝑃𝑜𝑝 ≈ 7.8𝑏𝑛



End of the lesson

Well done for completing the lesson.

Reflections


